
 

 

Answer on Question #59344 – Math – Trigonometry 

Question 

 

Solution 

Simple harmonic motion is 

𝑥(𝑡) = 𝐴𝑐𝑜𝑠(𝜔𝑡), 

where A is the amplitude; 

𝜔  is the angular frequency (𝜔 = 2𝜋𝑓); 

𝑓  is a frequency of the motion (𝑓 =
𝜔

2𝜋
). 

So in case of the condition 𝑥(𝑡) = 9𝑐𝑜𝑠 (
𝜋

2
𝑡), we get 

    𝜔 =  
𝜋

2
 (

𝑟𝑎𝑑

𝑠𝑒𝑐
) and 𝑓 =  

𝜋

2

2𝜋
=

1

4
 (𝐻𝑧) 

Answer:  𝑓 =
1

4
= 1/4 (𝐻𝑧) 

Question 

 

Solution 

Simple harmonic motion is (if the position at t = 0 is 0): 

𝑥(𝑡) = 𝐴𝑠𝑖𝑛(𝜔𝑡), 

https://en.wikipedia.org/wiki/Angular_frequency


 

 

where A is an amplitude; 

𝜔 is the angular frequency (𝜔 =
2𝜋

𝑇
); 

𝑇 is the period. 

So, in case of the conditions 𝐴 = 5, 𝑇 = 2,  𝜔 =  
2𝜋

2
= 𝜋 (

𝑟𝑎𝑑

𝑠𝑒𝑐
) we get 𝑥(𝑡) = 5𝑠𝑖𝑛(𝜋𝑡). 

Answer: 𝑥(𝑡) = 5𝑠𝑖𝑛(𝜋𝑡). 
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